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Question # 10 of 10 ( Start time: 01:42:07 PM, 26 April 2017 ) Total Marks: 1
| Suppose demand curve for good A has shifted to the right as a result of increase in price of good B. From this we can infer that:

Select the correct option
Aand B are substitutes.

A and B are complements.

O

Ais used to produce good B.

B is used to produce good A.

Click to Save Answer & Move to Next Question
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Question # 2 of 10 ( Start time: 01:32:32 PM, 26 April 2017 ) Total Marks: 1
[Aslam consumes less of a good due to increase in his income. For Aslam, this good is categorized as:

Select the correct option
Normal,

o

Giffen
(6]

Public.
L)

Inferior.

[ @l click to Save Answer & Move to Next Question
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Question # 3 of 10 ( Start time: 01:33:59 PM, 26 April 2017 ) Total Marks: 1
Since Tea and coffee are considered as substitutes, the cross price elasticity of demand for tea and coffee will be:

Select the correct option
Zero

o

Infinity
Positive
Negative

Click to Save Answer & Move to Next Question
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Question # 5 of 10 ( Start time: 01:36:42 PM, 26 April 2017 )

Total Marks: 1
offee and tea are considered as substitutes, i

rice of tea decreases then

P Select the correct option
Demand curve for tea towards left.

Demand curve for coffee towards left.

O

Supply curve for coffee towards right.

Demand curve for coffee towards right.
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Question # 6 of 10 ( Start time: 01:38:19 PM, 26 April 2017 )

Total Marks: 1
(Which of the following will cause the demand curve for Apple to shift to the left?

Select the correct option
Increase in taste and preferences

o

Decrease in taste and preference

O

Increase in income

Decrease in the price of complements
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Question # 7 of 10 ( Start time: 01:39:27 PM, 26 April 2017 )

hich branch of economics deals with the behavior of indi

Total Marks: 1

ual consumers, firms an

Select the correct option
Mathematical economics

Microeconomics

Macroeconomics

Development economics
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Question # 8 of 10 ( Start time: 01:40:22 PM, 26 April 2017 ) Total Marks: 1
The demand curve is downward sloping if the price elasticity of demand is:

Select the correct option
Zero.

o

Infinite.
Positive.
Negative.

Click to Save Answer & Move to Next Question





